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int ben = 30;
int yuval = 15;
int michal = 10;
michal = 4;
yuval = michal;
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System.out.println("shalom");
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System.out.println("shalom");
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int num = 5;
System.out.println(num);
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System.out.println("num");
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import java.util.Scanner;
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Scanner myObj = new Scanner(System.in);
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int age = 30;
System.out.println("my age is "+age);
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int age = 30;
System.out.println("my age is "+age+" and I'm very old.");
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int age = 30;

int year = 2020;

int birth = year - age;
System.out.println("I was born in:"+ birth);
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Random random = new Random();
int age = random.nextInt(12);
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- Math.sqrt(2*8) + Math.min(5,6)

- Math.round(4.8) * 2
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- Math.max(1,17%6)
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Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();
int y = myObj.nextInt();
int sum = x + y;
System.out.println(Math.max(x + 4, y));
X = Math.min(x, y);
sum = X + y;
System.out.println(Math.max(x + 4, y));
System.out.println(Math.max(x, 5) * 8 + 4);
8 'aan
.01an NI 7ITan 190NN NX V7191 DNWN 3 V77> 72PN WX TIZ 1AND
9 727N

.01 2N NI VPN 190NN NIX V7191 DNYN 3 V77> 72PN YUK TIR 1AND



220N 719

T2 NINYT NI7D'W NIvYaY NIRNAIT 'T 7Y 1TT7W NN 70 DR DY 220N7 pr yan
JIMAY NIRXYINYT D12 QWK DNMNTR] NRAY — DAL ARDY

NNAT?

.8-2 NXYINN DX '7'92n71 .y-1 X DIINYNAN DIDO NX AWNY7 11'¥W N

(x+y)*8 :12'n anda n'wa7 |NNoSn

int answer = x + y * 8; T2 112N V¥ TXN

.MIY QNXIN X'2NY

40N ' 1VN DX NY'Y AT D™MAI0N NIX NNDYWY R'N NN ANAYAN

10 7"aan
NX2AN 72N N7 RN DR INT

Y- X D'OYR QY 'an 71man 90nn DX 77 wpra anma -
X2 TN Yop NX and ol
Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();
int y = myObj.nextInt();
Console.WriteLine(Math.min(x, y));
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int x = myObj.nextIn();
7007 .axaY W Y TN 720 ol ,n¥Nn TNKY

YN K7 TIipnw 7'awa 7'900 T 7aN ,NI0P NIVO .nextint DINA nextln AN XIN 1D

11 AN
IN2N 70N DANNN ARRAYN DX INT

.“ know how to code” VO WNN NX JON7 0'9TN7 NX1 ,'OI' 7w Nan AT -

TA72 DNXR MUY 700 19w TIipn -
System.out.println(I know how to code);
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int a = 20;
int b = 10;
int ¢ = 10;
int x=a/ (b - c);
inty=a/ (b+ c);
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x value is 5
y value is 3
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Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();
int y = myObj.nextInt();

X =Y;
y =X
System.out.println("x value is " + x);
System.out.println("y value is " + y);
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main( [] args) {
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public static int getNumber(int num)

{
}

return num;
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int x = getNumber(7);
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public static void printHello()

{
System.out.println("Hello");
}
NINYNI MwY 22 07 oIy
printHello();
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public static void Main(String[] args)

{
Scanner myObj = new Scanner(System.in);
double numl = myObj.nextInt();
double num2 = myObj.nextInt();
double num3 = myObj.nextInt();
double max_num = Math.max(numl, num2);
max_num = Math.max(max_num, num3);
System.out.println("The biggest number is: " + max_num);
double min_num = Math.min(numl, num2);
min_num = Math.min(min_num, num3);
System.out.println("The smallest number is: " + min_num);
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class Program

{
private static double secret(int numl, int num2, int num3)
{
int what = Math.max(numl * num2, num2 * num3);
what = Math.max(what, numl * num3);
return what;
}
static void Main(String[] args)
{
Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();
int y = myObj.nextInt();
int z = myObj.nextInt();
System.out.println(secret(x, y, z));
}
}
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int sumDigits(int num)
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michal yuval ben NINUN oY
- - 30 1 nIw X7 Y

- 15 30 2 nIv anx7 W

10 15 30 3 miIw X7 W

4 15 30 4 DIV ANX? Y

4 4 30 5 NI Anx7 1Y

4 4 4 6 NIV INX7 Y
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NIN 10N7 0'97TN 91017 .15*x + y*z ANIWNN NX MNISI ,z-1 y ,X :DINWN 3 07D 7apnn TR 1anD
ONIYNN 79 ARXINN
Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();
int y = myObj.nextInt();
int z = myObj.nextInt();
int ans = 15 * x + y * z;
System.out.println("The answer is: " + ans);
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Scanner myObj = new Scanner(System.in);

int x = myObj.nextInt();

int y = myObj.nextInt();

int sum = x + y;

int mul = x * y;

int max = Math.max(x, y);

int remainder_xy = x % y;

int remainder_yx =y % X;
Console.WriteLine("x + y =" + sum);
Console.WriteLine("x * y =" + mul);
Console.WriteLine("The maximum is " + max);
Console.WriteLine("x % y=" + remainder_xy);
Console.WriteLine("y % x=" + remainder_yx);

7 '"an jNNoS

Xx=5,y=3 UKD -

v Sum Y X 1 v
- - - 5 2 v

- - 3 5 3w

- 8 3 5 4 v

9 8 3 5 5 v

- 8 3 3 6 v

- 6 3 3 7 niv

7 6 3 3 8 niv
44 6 3 3 9 miv

X=5,y=6 ©UNKD -

v'79 Sum Y X 1 v
- - - 5 2 v

- - 6 5 3 muvw

- 11 6 5 4 v

9 11 6 5 5nv

- 11 6 5 6 v

- 11 6 5 7 v

9 11 6 5 8 mv
44 11 6 5 9 nv
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Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();

int y = myObj.nextInt();

int z = myObj.nextInt();

int max = Math.max(x, Math.max(y, z));
Console.WriteLine("The maximum number is:

"+ max);
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Scanner myObj = new Scanner(System.in);

int x = myObj.nextInt();

int y = myObj.nextInt();

int z = myObj.nextInt();

int min = Math.min(x, Math.min(y, z));
Console.WriteLine("The minimum number is: " + min);
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System.out.println(“I know how to code”);
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Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();

int y = myObj.nextInt();

int tmp = x;

X =Y;

y = tmp;

System.out.println("x value is + X);
System.out.println("y value is " + y);
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public static int yearOfBirth(int age)
{

}

return 2020 - age;

:D'MYS NN N71W97 X7

System.out.println(yearOfBirth(14));



System.out.println(yearOfBirth(24));
System.out.println(yearOfBirth(30));

class Main

{

public static double maxNumber(double x,

{
double max_num = Math.max(x, y);
max_num = Math.max(max_num, z);
return max_num;

¥

public static double minNumber(double x,

{
double min_num = Math.min(x, y);
min_num = Math.min(min_num, z);
return min_num;

}

static void Main(String[] args)
{

Scanner myObj = new Scanner(System.in);
double x = myObj.nextDouble();
double y = myObj.nextDouble();
double z = myObj.nextDouble();

System.out.println("The biggest number is:
System.out.println("The smallest number is:

class Main

{

public static double add(double
{

}
public static double sub(double

{

}
public static double mul(double

{

}
public static double div(double

{
}

static void Main(String[] args)

{

return numl + num2;

return numl - num2;

return numl * num2;

return numl / num2;

numl, double

numl, double

numl, double

numl, double

Scanner myObj = new Scanner(System.in);
double x = myObj.nextDouble();

double y = myObj.nextDouble
Console.WriteLine("x + y =

Console.WriteLine("x - y =
Console.WriteLine("x * y =
Console.WriteLine("x / y =

0

5
+

+
+
+

double vy,

num2)

num2)

num2)

num2)

Add(x, ¥));
Sub(x, y));
Mul(x, y));
Div(x, y¥));
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double z)

double y, double z)

"+ maxNumber(numl,num2,num3));

+minNumber(numl,num2,num3));
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x=30,y=2,z=8 71AYy NNX DY -

v'19 What Num3 Num?2 Numl z Vi X A R11J]

30 Main1l

2 Main2

8 Main3

60 8 2 30 Secretl

240 Secret2

240 Maind

x=12,y=5,z=100 1Ay nMw nyo -

v'719 What Num3 Num?2 Numl z Vi X A R11J]

12 Mainl

5 Main2

100 Main3

500 100 5 12 Secretl

1200 Secret?2

1200 Main4
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public static double sumDigits(int num)

{
int sum = 9;
sum += num % 10;
num = num / 10;
sum += num % 10;
num = num / 10;
sum += num;
return sum;
}
static void Main(String[] args)
{
Scanner myObj = new Scanner(System.in);
int x = myObj.nextInt();
Console.WriteLine("The sum of the digits is "+SumDigits(x));
}
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